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NEW QUESTION 1
Which of the following aspects are true of agile as compared to waterfall? (Select two).

A. Agile works through larger integrated teams.

B. Agile promotes project manager ownership over deliverables.

C. Agile reinforces the importance of comprehensive documentation.
D. Agile has more customer involvement throughout development.
E. Agile is more flexible to allow for changes in scope.

F. Agile is comprised of well-defined phases.

Answer: DE

Explanation:

Agile is a project management methodology that emphasizes customer collaboration, feedback, and adaptation throughout the project life cycle. Agile teams work
in short iterations, called sprints, and deliver working increments of the product or service to the customer for review and approval. Agile teams can also respond to
changing requirements and priorities by adjusting the scope, schedule, or quality of the project12. Waterfall, on the other hand, is a project management
methodology that follows a linear and sequential process, where each phase of the project must be completed before moving on to the next one. Waterfall teams
work with a fixed scope, schedule, and quality, and deliver the final product or service to the customer at the end of the project. Waterfall teams have less
customer involvement and flexibility during the project development34.

NEW QUESTION 2
Which of the following are primary features provided by a standard laaS solution? (Select two).

A. Encryption

B. Storage

C. Networking
D. User interface
E. Access

F. Database

Answer: BC

Explanation:

According to What is Logging as a Service (LaaS)? - LogicMonitor, LaaS is a cloud-based log management platform that simplifies the management of
infrastructure and application logs. LaaS offers a central location where you can store, analyze and visualize the content of all your logs. It works by ingesting logs
from different sources, such as web servers, I0T devices, database servers and more. It then provides actionable output by organizing and restructuring the
information within these logs. Therefore, storage and networking are primary features provided by a standard LaaS solution, as they enable the collection and
transmission of logs from various sources to a centralized platform. Encryption, user interface, access, and database are not primary features of LaaS, as they are
either optional or secondary aspects of the service.

NEW QUESTION 3
A project manager was just assigned to a new project. Which of the following activities should the project manager undertake after accepting the project? (Select
TWO).

A. Review the detailed plan.

B. Develop a preliminary scope.

C. Develop a transition plan.

D. Develop a project management plan.
E. Review the resource pool.

F. Review the project objectives.

Answer: EF

Explanation:

Review the resource pool and review the project objectives are activities that the project manager should undertake after accepting a new project. Reviewing the
resource pool involves identifying and evaluating the availability, skills, and competencies of the human and material resources that are needed for the project.
Reviewing the project objectives involves understanding and clarifying the expected outcomes and benefits of the project and how they align with the
organizational strategy and stakeholder expectations. These activities can help to plan and execute the project effectively and efficiently.

NEW QUESTION 4
A team is analyzing the backlog in order to decide what to include in the next sprint. Which of the following aspects is the most important for the team to take into
consideration?

A. Time to be fixed

B. Impact to project

C. Issue category

D. Resource availability

Answer: B

Explanation:

When analyzing the backlog to decide what to include in the next sprint, the most important aspect to consider is the impact to the project. This involves assessing
which items will provide the most value and contribute significantly towards achieving the project goals. It's crucial to prioritize work that has the highest impact on
the project’s success.

References = The answer is based on standard agile project management practices, particularly in the context of sprint planning where prioritization is key. For
detailed information, please refer to the CompTIA Project+ Study Guide and other official CompTIA resources
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NEW QUESTION 5
A visual that displays team progress was created for stand-up meetings. Which of the following BEST describes what is being represented on the visual?

A. Decision board
B. Whiteboard
C. Task board
D. Dashboard

Answer: C

Explanation:

A task board is a visual tool that displays team progress for stand-up meetings. A task board usually consists of columns that represent different stages or
statuses of tasks, such as to do, in progress, done, or blocked. Each task is represented by a card or sticky note that can be moved across the columns as the task
progresses. A task board can help to facilitate communication, collaboration, and transparency among team members and stakeholders. It can also help to track
and manage work flow, prioritize tasks, identify bottlenecks, and resolve issues3

NEW QUESTION 6

SIMULATION

During a gate review meeting, the deliverable was rejected by the customer. INSTRUCTIONS

Review the dashboard.

« Part 1: Drag and drop each task, placing them in the correct order based on the project change control process.
* Part 2: Select the proper document(s) to be updated.

If at any time you would like to bring back the initial state of the simulation, please click the Reset All button.
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Question Options

Select the appropriate document(s) to update.

Risk register

Schedule

Statement of work

Organizational chart

Change log

Issues log

WBS dictionary

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Part 1:

Change Control Process:

? Consult the RACI matrix.

? Define new requirements and record changes.

? Assess the schedule, risk, and cost.

? Perform a demonstration.

? Obtain a sign off.

? Update and test the deliverable.

? Make an announcement on the company portal.

The change control process is a sequence of steps that helps to manage and document any changes or modifications to a project scope, schedule, cost, quality, or
resources. The change control process typically involves the following steps:

? Consult the RACI matrix. A RACI matrix is a tool that defines and clarifies the roles and responsibilities of each team member for each task or activity in a project.
RACI stands for responsible, accountable, consulted, and informed. Consulting the RACI matrix can help to identify who needs to be involved or informed about
the change request and how to communicate with them.

? Define new requirements and record changes. The new requirements and changes are the details of what needs to be modified or added to the project
deliverables or objectives based on the customer feedback or request. Defining and recording the new requirements and changes can help to communicate and
justify the need and rationale for the change and its implications on the project scope and quality.

? Assess the schedule, risk, and cost. The schedule, risk, and cost are the aspects of the project that may be affected by the change request. Assessing the
schedule, risk, and cost can help to determine the impact and feasibility of the change and identify any possible alternatives or corrective actions to minimize or
avoid its negative effects.

? Perform a demonstration. A demonstration is a presentation or show of how the modified or updated deliverable works or meets the customer expectations or
requirements. Performing a demonstration can help to validate and verify that the change request has been implemented correctly and effectively and to obtain
feedback or approval from the customer or stakeholders.

? Obtain a sign off. A sign off is a formal acceptance and approval of the change request and its deliverables from the customer or stakeholders. Obtaining a sign
off can help to confirm that the change request has been completed successfully and satisfactorily and to close the change control process.

? Update and test the deliverable. The deliverable is the product or service that is produced or provided by the project. Updating and testing the deliverable can
help to ensure that it meets the quality standards and criteria and that it works as expected after implementing the change request.

? Make an announcement on the company portal. The company portal is a platform or channel that allows internal communication and collaboration among
employees within an organization. Making an announcement on the company portal can help to inform and update other team members or departments about the
change request and its outcomes and to share any lessons learned or best practices from the change control process.

Part2:

? Risk register: A risk register is a document that identifies, analyzes, and records the potential risks or uncertainties that may affect a project. Updating the risk
register can help to capture any new or modified risks that may arise from the change request and to plan and implement appropriate risk responses.

? Schedule: A schedule is a document that shows the planned start and end dates,

durations, dependencies, and progress of each task or activity in a project. Updating the schedule can help to reflect any changes or adjustments to the project
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timeline or milestones that may result from the change request and to monitor and control the project performance and delivery.

? Statement of work: A statement of work (SOW) is a document that defines the scope, deliverables, schedule, and terms and conditions of a project or contract.
Updating the SOW can help to document any changes or additions to the project scope or deliverables that may be requested or agreed upon by the customer or
stakeholders and to ensure alignment and agreement on what needs to be done and how it will be done.

? Change log: A change log is a document that tracks and records any changes or modifications that are made to the project scope, schedule, cost, quality, or
resources during a project. Updating the change log can help to document the change request, approval, implementation, and impact of each change and ensure
traceability and transparency.

NEW QUESTION 7
When creating a project schedule, a project manager adds activities with zero duration. Which of the following describes these types of activities?

A. Critical paths

B. Resources

C. Milestones

D. Work breakdown structures

Answer: C

Explanation:

Milestones are activities with zero duration that are added to a project schedule by a project manager. Milestones are significant events or achievements in a
project that mark the completion of a phase, deliverable, or task. Milestones can help to track and measure the progress and performance of a project and
communicate it to stakeholders.

NEW QUESTION 8
Which of the following is a quality assurance tool?

A. Defining project goals

B. Identifying the root cause analysis
C. Assessing employee efficiency

D. Assessing skill gaps

Answer: B

Explanation:

Identifying the root cause analysis. lIdentifying the root cause analysis is a quality assurance tool that can help to find and eliminate the underlying causes of
quality problems or defects. Root cause analysis is a systematic process of asking why a problem occurred and tracing it back to its source. Root cause analysis
can help to prevent recurrence of the same or similar problems, improve quality performance, and reduce costs and risks12

NEW QUESTION 9

After months of recruiting, a team finally found the right candidate for a very specific coding language assignment. Due to this delay, the team has a tight timeline
without any float. A day before the candidate is scheduled to join the team, the project manager realizes the candidate has a non-compete agreement from the
previous employer. Which of the following should the project manager do?

A. Withdraw the offer to the candidate and raise this as a risk.

B. Ignore a potential lawsuit since this is a critical project.

C. Use a third-party company for the contract to legally avoid responsibility.
D. Have a meeting with the project sponsor to discuss the situation.

Answer: D

Explanation:

The project manager should inform the project sponsor about the issue and seek their guidance and support. The project sponsor is the person who provides the
resources and authority for the project, and who can help resolve any conflicts or problems that may arise. The project manager should not withdraw the offer,
ignore the lawsuit, or use a third-party company without consulting the project sponsor first, as these actions may have legal, ethical, or financial implications for
the project and the organization12.

NEW QUESTION 10
A project manager realizes that a project will not be completed on time due to resource constraints. Which of the following actions should the project manager take
NEXT?

A. Trigger the contingency plan and communicate with the stakeholders.

B. Work with the functional managers to create a work-around.

C. Submit a change request to the change control board.

D. Transfer the risk by hiring a new vendor who was successful on a previous project.
E. Set up an escalation meeting with the sponsor.

Answer: C

Explanation:

Submit a change request to the change control board. The project manager should submit a change request to the change control board (CCB) if they realize that
the project will not be completed on time due to resource constraints. A change request is a formal proposal to modify any aspect of the project, such as scope,
schedule, cost, quality, or resources. A change request must be submitted to the CCB, which is a group of stakeholders who are authorized to review and approve
changes. Submitting a change request can help to document the impact of the resource constraints on the project and seek approval for any corrective actions or
preventive actions12

NEW QUESTION 10
Which of the following should occur when implementing an IT infrastructure change that takes risks into consideration?
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A. Approving the change request
B. Developing a rollback plan

C. Gathering necessary resources
D. Defining requirements

Answer: B

Explanation:

When implementing an IT infrastructure change that takes risks into consideration, the project manager should develop a rollback plan. A rollback plan is a
contingency plan that outlines the steps that need to be taken in case the change does not work as expected. It includes a plan to roll back the changes and
restore the system to its previous state. References: CompTIA Project+ Study Guide Section 3.3.

The project manager should develop a rollback plan when implementing an IT infrastructure change that takes risks into consideration. A rollback plan is a
contingency plan that describes how to revert back to the previous state of the system in case of a failure or disruption during the change implementation. A
rollback plan can help to minimize the impact of the change on the system performance and availability and ensure business continuity and data integrity.

NEW QUESTION 13
A project team has just experienced an unexpected event and implemented a work-around. Which of the following documents should be used to record the event?
(Select TWO).

A. Risk report

B. Defect log

C. Issue log

D. Backlog

E. Change log

F. Progress report

Answer: CE

Explanation:

Issue log and change log are documents that should be used to record the event where the project team has just experienced an unexpected event and
implemented a work-around. An issue log is a document that tracks and records any issues or problems that arise during a project and how they are resolved. An
issue log can help to monitor and control the project performance and quality and prevent any negative impacts on the project objectives and deliverables. A
change log is a document that tracks and records any changes or modifications that are made to the project scope, schedule, cost, quality, or resources during a
project. A change log can help to document the change request, approval, implementation, and impact of each change and ensure traceability and transparency.

NEW QUESTION 16
A project is moving into the user acceptance testing phase. Several resources will be needed to execute different steps in the testing plan. Which of the following
would be the best tool to allow the resources to remain at their desks and only react when needed?

A. Ticketing system

B. Videoconference

C. Simple messaging system
D. Corporate social media

Answer: A

Explanation:

A ticketing system is a tool that allows the project manager to assign, track, and manage tasks for the testing phase. A ticketing system can help the resources to
remain at their desks and only react when needed, because they can receive notifications, updates, and feedback on their tickets through email or other channels.
A ticketing system can also help the project manager to monitor the progress, quality, and issues of the testing phase, and to generate reports and metrics. A
ticketing system is different from a videoconference, which is a tool that allows the project team to communicate and collaborate in real time through audio and
video. A videoconference is not suitable for allowing the resources to remain at their desks and only react when needed, because it requires their active
participation and attention. A ticketing system is also different from a simple messaging system, which is a tool that allows the project team to exchange text
messages and files. A simple messaging system is not effective for assigning, tracking, and managing tasks for the testing phase, because it lacks the features
and functions of a ticketing system, such as prioritization, categorization, status, and history. A ticketing system is also different from a corporate social media,
which is a tool that allows the project team to share information and ideas through online platforms. A corporate social media is not appropriate for allowing the
resources to remain at their desks and only react when needed, because it may not be secure, reliable, or professional for the testing phase. References =
CompTIA Project+ Study Guide: Exam PK0-005, 3rd Edition, Chapter 10: Project Executionl; CompTIA Project+ Certification Study Guide, 3rd Edition, Chapter
10: Project Execution2; The 15 best collaboration tools for productive teams3

NEW QUESTION 17
A project manager, who finished a project some time ago, keeps receiving questions from another project manager who is currently leading a similar project.
Which of the following is the most likely cause of this situation?

A. The retrospective session feedback was not communicated properly.
B. The project resources were released ahead of time.

C. The documentation was not archived as per the PMO standards.

D. The validation of deliverables is running behind schedule.

Answer: C

Explanation:

Archiving project documentation is an important process to ensure that the project information is stored, retrieved, and updated in a consistent and efficient
mannerl. It also helps to meet legal requirements, enable long-term analysis, and support new projects and team members1. If the documentation was not
archived as per the PMO standards, it would be difficult for the current project manager to find the relevant documents and learn from the previous project. This
would cause the current project manager to keep asking questions to the previous project manager, who may not have all the answers or may not be available.
Therefore, the most likely cause of this situation is that the documentation was not archived as per the PMO standards. References = CompTIA Project+ Study
Guide: Exam PKO0-005, 3rd Edition, Chapter 14: Closing the Project, page 403; How to Archive a Completed Project: A Guide for PMOs, Introduction and Benefits
sections.
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NEW QUESTION 18
A contractor attended a project meeting that was exclusively for company employees. Which of the following actions should the PM take?

A. Escalate to vendor management.
B. Consult the request for proposal.
C. Review the meeting cadence.

D. Reinforce the rules of engagement.

Answer: D

Explanation:

The rules of engagement are the guidelines and expectations that define the relationship between the contractor and the company. They may include topics such
as communication, confidentiality, access, security, performance, and compliance. The project manager should reinforce the rules of engagement with the
contractor to ensure that they understand and respect the boundaries and protocols of the company. This will help to avoid any potential conflicts,
misunderstandings, or breaches of contract. References = CompTIA Project+ Study Guide: Exam PKO0-005, 3rd Edition, Chapter 7: Project Stakeholder
Management, p. 239; Contractor Rules of Engagement - Cox Enterprises, p. 1; Legal Considerations for Engaging Contractors | LegalVision

NEW QUESTION 22
Which of the following would be considered operational security?

A. Mobile device compliance
B. Background screening

C. Multifactor authentication
D. Facility access

Answer: D

Explanation:

Operational security (OPSEC) is a process that prevents sensitive information from getting into the wrong hands by viewing operations from the perspective of an
adversaryl. Facility access is a form of OPSEC that controls who can enter and exit a physical location where sensitive data or equipment is stored or processed.
Facility access can include measures such as locks, alarms, badges, biometrics, guards, and cameras. The other options are not correct because:

? Mobile device compliance is a policy that ensures that mobile devices used by employees or contractors meet certain security standards and requirements, such
as encryption, password protection, antivirus, and remote wipe. Mobile device compliance is not a form of OPSEC, but rather a form of data security or device
management.

? Background screening is a process that checks the criminal, financial, and employment history of a potential employee or contractor before hiring them.
Background screening is not a form of OPSEC, but rather a form of human resource management or risk mitigation.

? Multifactor authentication is a method that requires users to provide two or more pieces of evidence to verify their identity before accessing a system or service,
such as a password, a code, a token, or a biometric. Multifactor authentication is not a form of OPSEC, but rather a form of access control or identity
management. References = CompTIA Project+ Study Guide: Exam PK0-005, 3rd Edition, Chapter 10: Executing and Closing Projects, page 314; CompTIA
Project+ Certification Exam Objectives, Domain 3: Project Execution, Objective 3.2: Given a scenario, execute and monitor project tasks using traditional
methodologies; What is Operational Security? The Five-Step Process, Best Practices, and More

NEW QUESTION 24
A company is implementing a new radar system from July to September. The project manager knows these months are the peak hurricane season for this region.
Which of the following should the project manager develop to mitigate the risk to the project?

A. Data plan

B. Contingency plan
C. Rollback plan

D. Recovery plan

Answer: B

Explanation:

A contingency plan is a risk mitigation strategy that involves preparing alternative courses of action in case the original plan fails or encounters unexpected
problems. A contingency plan can help reduce the impact of negative risks and ensure the project continuity and success. In this case, the project manager should
develop a contingency plan to mitigate the risk of hurricanes affecting the implementation of the new radar system. For example, the contingency plan could
include backup resources, alternative locations, emergency procedures, and communication channels in case of a hurricane. References = CompTIA Project+
Study Guide: Exam PK0-005, 3rd Edition, Chapter 7: Risk Managementl; CompTIA Project+ Certification Study Guide, 3rd Edition,

Chapter 7: Risk Management

NEW QUESTION 28
A project manager is assigned to a multinational project with team members from different continents. Which of the following is the MOST important aspect for the
project manager to consider?

A. Resource allocation

B. Communication security
C. Technological factors
D. Cultural differences

Answer: D

Explanation:

Cultural differences are the most important aspect for the project manager to consider when assigned to a multinational project with team members from different
continents. Cultural differences refer to the variations in beliefs, values, norms, behaviors, customs, and communication styles among people from different
countries or regions. Cultural differences can affect how team members interact, communicate, collaborate, negotiate, make decisions, solve problems, manage
conflicts, and perform tasks. The project manager should be aware of and respect the cultural differences among team members and foster a positive and
inclusive team culture that leverages diversity and promotes trust and cooperation.
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NEW QUESTION 33
After a product is released for production, a tester performs a test to ensure its basic functionality is working as expected. Which of the following is the tester
performing?

A. Smoke test
B. Stress test
C. Penetration test
D. Regression test

Answer: A

NEW QUESTION 35
A project manager is assigned an initiative in a highly regulated industry that requires employees to safeguard certain pieces of Pll. Which of the following is the
best approach for the project manager to keep the information confidential?

A. Encryption

B. Multifactor authentication
C. Quality assurance

D. Password protection

Answer: A

Explanation:
Encryption is the process of transforming data into an unreadable format that can only be accessed by authorized parties who have the decryption key. Encryption
is the best approach for the project manager to keep the Pl confidential, as it protects the data from unauthorized access during storage and transmission12.

NEW QUESTION 37
An institution wants to implement software solutions to help manage the internal flow for formally responding in writing to citizens' complaints. Which of the
following solutions would be BEST?

A. Enterprise resource planning and end user applications
B. Electronic document and record management systems
C. Customer relationship management and databases

D. Content management and financial systems

Answer: B

Explanation:

Electronic document and record management systems would be the best software solutions to help an institution manage the internal flow for formally responding
in writing to citizens’ complaints. Electronic document and record management systems are software systems that help organizations create, store, organize,
manage, track, and distribute electronic documents and records. Electronic document and record management systems can help to improve efficiency,
productivity, collaboration, compliance, and

security of document and record management processes and workflows3

NEW QUESTION 40
During a status meeting for a multisystem program, a program manager learns that some deliverables from another project are delayed. Which of the following
should the program manager do next?

A. Obtain details from the owner of the project.
B. Update the critical path for the project.

C. Apply contingency reserves.

D. Reestimate epic user stories.

Answer: A

Explanation:

The program manager should first obtain details from the owner of the project that is causing the delay, such as the root cause, the impact, the mitigation plan,
and the revised timeline. This will help the program manager to assess the situation, communicate with the stakeholders, and adjust the program schedule
accordingly. Updating the critical path, applying contingency reserves, and reestimating epic user stories are possible actions that the program manager may take
after obtaining the details, depending on the severity and duration of the delay. However, they are not the immediate next steps, as they require more information
and analysis. References = CompTIA Project+ Study Guide: Exam PKO0-005, Third Edition, Chapter 10: Executing the Project, page 2431; Dealing with delays -
Project Management Institute2

NEW QUESTION 43
A piece of equipment has malfunctioned and is stalling the completion of a deliverable for a project. Which of the following should the project manager do next?

A. Buy a replacement for the faulty equipment.

B. Get the maintenance team to resolve the issue.

C. Escalate the issue to the project sponsor.

D. Rate the severity of the impact the issue has on the project.

Answer: D

Explanation:

This answer is based on the best practice of issue management in project management, which is to identify, analyze, prioritize, and resolve issues that affect the
project performance, scope, schedule, quality, or budget12. The first step in this process is to rate the severity of the impact the issue has on the project, which
involves assessing the likelihood and consequences of the issue, and assigning a rating or score to the issue based on a predefined scale or criteria34. By rating
the severity of the impact, the project manager can determine the urgency and importance of the issue, and decide the appropriate course of action to address the
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issue56. Rating the severity of the impact is better than the other options because:

? Buying a replacement for the faulty equipment may not be feasible, cost-effective, or timely, depending on the availability, price, and delivery time of the
equipment. It may also require approval from the project sponsor or other stakeholders, and may affect the project budget or scope?.

? Getting the maintenance team to resolve the issue may not be possible, depending on the nature and extent of the malfunction, the skills and availability of the
maintenance team, and the warranty or service contract of the equipment. It may also take time and resources to diagnose and fix the problem, and may cause
further delays or disruptions to the project8.

? Escalating the issue to the project sponsor may not be necessary, depending on the severity and complexity of the issue, and the authority and responsibility of
the project manager. It may also create unnecessary alarm or confusion among the project stakeholders, and may undermine the project manager’s credibility or
autonomy9.

References = CompTIA Project+ Certification Study Guide, CompTIA Project+ Certification Exam Objectives, What is Issue Management?1, Issue Management
Process2, How to Assess the Severity of Project Issues3, How to Prioritize Project Issues4, How to Replace Faulty Equipment in Project Management5, How to
Manage Equipment Maintenance in Project Management6, How to Escalate Issues in Project Management7

NEW QUESTION 48

A development team, which is working on a software project demonstrates software functionality 10 project stakeholder a week before the implementation date.
Several stakeholders comment that the software does not meet the communicated expectations. Which of the following tools should the project manager use to
validate the functionality?

A. Project status report

B. Requirements Traceability Matrix
C. Detect log

D. Signed project charter

E. Work breakdown structure

Answer: A

NEW QUESTION 52
A system was implemented, and testing was successfully completed. Which of the following should the project manager do NEXT?

A. Validate against the scope statement and ask for sign-off.
B. Run a control chart to ensure the quality of the deliverables.
C. Review the risk register and close up residual risks.

D. Start the training and handoff for the operations team.

Answer: A

Explanation:

The project manager should validate against the scope statement and ask for sign-off after a system was implemented and testing was successfully completed.
The scope statement is a document that defines and documents the project scope, objectives, deliverables, requirements, assumptions, and constraints. The
scope statement can help to establish a common understanding and agreement between the project manager and the stakeholders on what the project aims to
achieve and deliver. Validating against the scope statement means checking whether the project deliverables meet the agreed-upon scope criteria and quality
standards. Asking for sign-off means requesting formal acceptance and approval of the project deliverables from the stakeholders.

NEW QUESTION 54
Which of the following is a typical characteristic of Scrum?

A. Large teams

B. Low-risk scope

C. Self-organized team
D. Well-defined scope

Answer: C

Explanation:

A self-organized team is a typical characteristic of Scrum, which is an agile framework for managing complex projects. A self-organized team is a group of
motivated and skilled individuals who have the autonomy and authority to make decisions and collaborate on how to deliver the project goals. A self-organized
team does not rely on a manager or a leader to assign tasks, monitor progress, or resolve issues. Instead, a self-organized team uses Scrum events, such as daily
stand-ups, sprint planning, sprint review, and sprint retrospective, to coordinate their work, communicate with each other, and inspect and adapt their process and
product123. References = CompTIA Project+ Study Guide: Exam PK0-005, 3rd Edition, Chapter 2: Project Methodologies, p. 55; Scrum Characteristics -
Scrumversity; What is Scrum? | Scrum.org; Characteristics of a Great Scrum Team | Scrum.org

NEW QUESTION 57
Which of the following is a capital expense?

A. Building lease

B. Building purchase

C. Building maintenance
D. Building insurance

Answer: B
Explanation:
A capital expense is the cost of acquiring or making improvements to fixed assets that have a useful life of more than one yearl. A building purchase is an

example of a capital expense, as it is a long-term investment that increases the value of the company’s assets2. Building lease, maintenance, and insurance are
not capital expenses, as they are recurring or short-term costs that do not increase the value of the company’s assets3.

NEW QUESTION 60
After a migration was completed and a financial system was deployed, users have been unable to issue payment orders. Which of the following should be
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implemented?

A. Rollback plan
B. Release plan
C. Deployment plan
D. Contingency plan

Answer: A

Explanation:

A rollback plan is a part of the project management plan that defines how to revert the system to its previous state or baseline if the change or migration fails or
causes unacceptable impactsl. A rollback plan is different from a contingency plan, which is a plan to deal with a specific risk event that may or may not occur2. A
release plan and a deployment plan are not relevant to the scenario, as they are used to plan and execute the delivery and installation of the system, not to undo
them. Therefore, the correct answer is

A. Rollback plan.

NEW QUESTION 62
A project manager makes a company-wide announcement about the successful completion of a project and thanks team members. Which of the following is the
project manager doing?

A. Bringing attention to the project sponsor
B. Sharing lessons learned

C. Collecting feedback

D. Celebrating the team's hard work

Answer: D

Explanation:

A project manager who makes a company-wide announcement about the successful completion of a project and thanks team members is doing the following:
Celebrating the team’s hard work: This is the correct answer, as the project manager is acknowledging the efforts and contributions of the team members and
showing appreciation and recognition for their performancel?2.

Bringing attention to the project sponsor: This is not the correct answer, as the project manager is not highlighting the role or involvement of the project sponsor,
who is the person who provides the resources and authority for the project.

Sharing lessons learned: This is not the correct answer, as the project manager is not discussing the successes, challenges, or best practices of the project, which
are part of the lessons learned process.

Collecting feedback: This is not the correct answer, as the project manager is not soliciting any input or opinions from the team members or other stakeholders,
which are part of the feedback process.

NEW QUESTION 63
A PM is working on the preliminary scope statement and identifies that this project has the same approach as another project that was completed last year. Which
of the following actions would the PM most likely perform?

A. Call the previous PM for advice on risks and issues.

B. Ask the project sponsor to provide previous final project report results.

C. Complete the project charter using the other PM's subject matter expertise.

D. Use existing artifacts and accommodate based on the current project success criteria.

Answer: D

Explanation:

This answer is based on the best practice of using historical information and lessons learned from previous projects to improve the planning and execution of
current projects12. By using existing artifacts, such as scope statements, project plans, risk registers, and change logs, the PM can leverage the knowledge and
experience of the previous PM and avoid repeating the same mistakes or oversights. However, the PM should also accommodate the artifacts based on the
current project success criteria, which may differ from the previous project in terms of scope, schedule, budget, quality, or stakeholder expectations34. The PM
should not rely solely on the previous PM’s advice, the project sponsor’s report, or the project charter, as these sources may not provide enough detail or
accuracy for the current project’s scope statement. References = CompTIA Project+ Certification Study Guide5, CompTIA Project+ Certification Exam
Objectives6, How to Use Historical Information in Project Managementl, How to Use Lessons Learned to Improve Project Management2, How to Define Project
Success Criteria3, How to Use Existing Artifacts in Project Management4

NEW QUESTION 67
A project sponsor would like to develop a minimum viable product, but the requirements are not well defined. Which of the following should the project sponsor
use?

A. Rational Unified Process
B. Waterfall

C. Agile

D. DevOps

Answer: C

Explanation:

Agile is a methodology that emphasizes iterative and incremental development, customer collaboration, and responsiveness to change. Agile is suitable for
developing a minimum viable product (MVP), which is a version of a product with just enough features to be usable by early customers who can then provide
feedback for future product development. Agile allows the project sponsor to deliver an MVP quickly and test it with real users, and then adapt the product based
on the feedback and changing requirements. Agile also reduces the risk of wasting time and resources on a product that does not meet the customer’s needs or
expectations123. References = CompTIA Project+ Study Guide: Exam PKO0-005, 3rd Edition, Chapter 2: Project Methodologies, p. 55; What is a Minimum Viable
Product (MVP)? | Agile Alliance; Minimum Viable Product (MVP): What is it & Why it Matters - Atlassian

NEW QUESTION 72
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While developing a project charter, a PM discovers that some of the legal requirements have not been addressed during the project concept preparation, which
could result in significant financial penalties against the organization. The PM knows that implementation of appropriate changes is costly and will exceed the
budget and scope of the project. Which of the following should the PM do FIRST?

A. Escalate the finding to the change control board.

B. Add a risk to the risk register for validation.

C. Consult the RACI matrix to identify ownership of the risk.

D. Have a meeting with the project sponsor and main stakeholders.

Answer: D

Explanation:

The project manager should have a meeting with the project sponsor and main stakeholders first after discovering that some of the legal requirements have not
been addressed during the project concept preparation. The project sponsor and main stakeholders are the key decision-makers and influencers of the project.
They have the authority and responsibility to approve or reject any changes to the project scope, budget, or schedule. Having a meeting with them can help to
communicate the issue, assess the impact, explore alternatives, and seek guidance on how to proceed with the project34

NEW QUESTION 76
Which of the following offers administrators more direct control over operating systems?

A. Infrastructure as a service
B. Software as a service

C. Functions as a service

D. Platform as a service

Answer: A

Explanation:

Infrastructure as a service (laaS) offers administrators more direct control over operating systems than other cloud service models. laaS is a type of cloud
computing service that provides virtualized computing resources such as servers, storage, network, and operating systems over the internet. laaS allows users to
rent or lease infrastructure resources on demand and pay only for what they use. laaS gives users more flexibility and control over their infrastructure resources
and enables them to configure, manage, and customize their operating systems according to their needs and preferences3

NEW QUESTION 78
Which of the following can a project manager infer from the following velocity chart?
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A. The project is on schedule.

B. The project Is ahead of schedule.
C. The project is behind schedule.
D. The project is at risk.

Answer: C

Explanation:

The velocity chart typically shows the amount of work completed over time. If the “Actual Effort” line is below the “Planned Timeline,” it indicates that the project
is not progressing as fast as planned, hence it is behind schedule. This is inferred by comparing the actual work completed against what was scheduled.
References = The answer is based on standard project management practices and the typical interpretation of velocity charts in project management. For detailed
information, please refer to the CompTIA Project+ Study Guide and other official CompTIA resources.

NEW QUESTION 81
Which of the following is the main reason for documenting artifacts?
A. To provide a record of the project's progress and achievements for future reference

B. To show stakeholders that the project is on track and progressing as planned
C. To help team members be aware of roles and responsibilities
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D. To ensure that the project team understands the importance of the project to the organization
Answer: A

Explanation:

Documenting artifacts is the main reason for creating and maintaining project

documents that relate to the management of the project, not the project deliverables. Artifacts are used to define, support, and align the project work to the project
requirements and business goals. They also serve as a source of information and evidence for future projects, audits, reviews, and lessons learned1. Documenting
artifacts helps to capture the project’s history, performance, outcomes, and best practices, which can be useful for organizational learning and improvement2.
References = CompTIA Project+ PK0-005 Certification Study Guide, Chapter 14: Closing the Project, page 403; Project Artifacts and How to Use Them - Rebel's
Guide to Project Management, Introduction and What are project artifacts in project management? sections; Project Management Artifacts: Definition, Types, and
Phases, Introduction and What are project artifacts in project management? sections.

NEW QUESTION 84
A PM is working on the schedule for a project that has technical tasks and requires a SME's knowledge. The PM decides the best way to track this project is to
have the project lead provide high-level updates. Which of the following is the best tool to track this data?

A. Gantt chart

B. Project organization chart

C. Program Evaluation Review Technique chart
D. Milestone chart

Answer: D

Explanation:

A milestone chart is a tool that shows the key events or deliverables of a project along a timelinel2. A milestone chart is useful for tracking the progress of a
project that has technical tasks and requires a SME’s knowledge, because it can provide a high- level overview of the project status, without getting into the details
of each task or activity34. A milestone chart can help the PM and the project lead communicate the project achievements, challenges, and expectations to the
stakeholders, and also identify any potential risks or delays that may affect the project completion56. A milestone chart is better than the other options because:

? A Gantt chart is a tool that shows the tasks, dependencies, durations, and resources of a project along a timeline7. A Gantt chart is more detailed and complex
than a milestone chart, and may not be suitable for providing high-level updates to the stakeholders8.

? A project organization chart is a tool that shows the roles, responsibilities, and reporting relationships of the project team members and other stakeholders9. A
project organization chart is not a tool for tracking project data, but rather for defining the project structure and authority10.

? A Program Evaluation Review Technique (PERT) chart is a tool that shows the tasks, dependencies, and critical path of a project along a network diagram. A
PERT chart is more focused on the sequence and timing of the project tasks, and may not capture the key milestones or deliverables of the project.

References = CompTIA Project+ Certification Study Guide, CompTIA Project+ Certification Exam Objectives, What is a Milestone Chart?1, How to Create a
Milestone Chart in Excel in 3 Steps2, Milestone Chart: The Easiest Way to Track Project Milestones3, How to Use Milestones in Project Management4, What is a
Gantt Chart?5, Gantt Chart vs Milestone Chart: What's the Difference?6, What is a Project Organization Chart?7, How to Create a Project Organization Chart8,
What is a PERT Chart?9, PERT Chart vs Gantt Chart: What's the Difference?10

NEW QUESTION 86
Which of the following statements best describes a content management system?

A. A system to manage electronic signatures and document workflow

B. A system to manage database integration and provide messaging services

C. A system to manage shared data on the web, allowing multiple contributors to create, edit, and publish
D. A system to manage documents archival, such as emails, spreadsheets, and support tickets

Answer: C

Explanation:

A content management system (CMS) is a software application that allows users to create, manage, and deliver content via digital channels, such as websites,
blogs, or social medial2. A CMS enables multiple contributors to access, edit, and publish content without requiring technical knowledge or coding skills34. A CMS
also provides features such as templates, workflows, media libraries, and analytics to help users design, organize, and optimize their content56. References =
CompTIA Project+ Certification Study Guide7, CompTIA Project+ Certification Exam Objectives8, What Is a Content Management System (CMS)?1, What is a
Content Management System (CMS) | Oracle2, What is a Content Management System (CMS)? | Adobe Basics3, What is a CMS?4, What is a Content
Management System?5, Content Management System (CMS) - Definition from Techopedia6

NEW QUESTION 91
A project manager needs to update the project sponsor and senior stakeholders about the progress of a project. Which of the following tools will the project
manager MOST likely use?

A. Dashboard

B. Gantt chart

C. Work breakdown structure

D. Requirements Traceability Matrix

Answer: A
Explanation:
A dashboard is a tool that the project manager will most likely use to update the project sponsor and senior stakeholders about the progress of a project. A

dashboard is a graphical tool that displays key performance indicators (KPIs), metrics, and data related to a project using charts, graphs, tables, or other visual
elements. A dashboard can help to provide a quick and easy overview of the project status and performance and highlight any issues or risks that need attention.

NEW QUESTION 94
After new capabilities were deployed in a system, issues with preexisting capabilities were reported. Which of the following testing cycles should be used to
prevent this issue?

A. Performance testing
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B. User acceptance testing
C. Stress testing
D. Unit testing

Answer: D

Explanation:

Unit testing is a testing technique that verifies the functionality and quality of individual units or components of software, such as modules, classes, functions, etc.
Unit testing can help prevent issues with preexisting capabilities by detecting and fixing errors at an early stage of development, before they affect the integration
and system testing. Unit testing can also ensure that new capabilities do not break or interfere with the existing ones, by checking the compatibility and
dependencies of the units. Unit testing can be performed by developers using tools and frameworks that automate the process and generate reports. References =
CompTIA Project+ PK0-005 Certification Study Guide, Chapter 10: Project Quality Management; CompTIA Project+ Certification Exam Objectives, Domain 3:
Project Execution, Objective 3.2: Execute quality management activities.

NEW QUESTION 95

During a stand-up meeting, a team member asks to include a change that an important stakeholder requested in the project board. This request is denied, and the
team member has to go back to what was originally planned for the sprint. Which of the following individuals should the stakeholder have asked to request the
change instead of the team member?

A. Architect

B. Project sponsor
C. Scrum master
D. Product owner

Answer: D

Explanation:

The product owner is the person who is responsible for managing the product backlog, which includes adding, removing, or changing items based on stakeholder
feedback and business value. The product owner is also the one who can collaborate with the development team and the scrum master to decide if a change can
be accommodated in the current sprint or deferred to a future sprint. Therefore, the stakeholder should have asked the product owner to request the change
instead of the team member, who is not authorized to make changes to the sprint backlog12.

NEW QUESTION 96
A project team needs to understand what needs to be done, who needs to complete the tasks, and when the tasks need to be completed. Which of the following
artifacts would be the best to capture this information?

A. SWOT

B. Risk register

C. Project schedule
D. RAC

Answer: C

Explanation:

A project schedule is an artifact that shows the sequence, duration, and dependencies of the project activities, as well as the resources assigned to each activity.
A project schedule helps the project team understand what needs to be done, who needs to complete the tasks, and when the tasks need to be completed. A
project schedule can also help monitor and control the project progress and performancel.

NEW QUESTION 101
Which of the following software programs would be best to use to store information related to business transactions?

A. Record management system
B. Customer relationship management
C. Enterprise resource planning
D. Content management system

Answer: C

Explanation:

Enterprise resource planning (ERP) software is a type of software that integrates various business functions and processes, such as accounting, finance,
inventory, sales, purchasing, human resources, and more. ERP software helps businesses store, organize, and manage information related to business
transactions, such as invoices, payments, orders, receipts, and reports. ERP software also provides real-time data analysis, reporting, and forecasting
capabilities12.

NEW QUESTION 104
Which of the following software programs would be BEST to use lo store information related to business transactions?

A. Record management system
B. Customer relationship management
C. Enterprise resource planning
D. Content management system

Answer: B
Explanation:
Customer relationship management (CRM) software would be the best to use to store information related to business transactions. CRM software is a type of

software that helps businesses manage their interactions and relationships with current and potential customers. CRM software can store and organize information
such as customer contact details, purchase history, preferences, feedback, complaints, etc. CRM software can help businesses improve customer service,
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satisfaction, loyalty, retention, and revenue 1

NEW QUESTION 106
A project manager is monitoring team performance by comparing committed versus completed work. The project manager creates the following:
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Which of the following most likely represents the number of items in the backlog?
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Answer: A

Explanation:

The number of items in the backlog can be determined by looking at the “Commitment” column for each sprint in the provided chart. For Sprint 5, there is a
commitment of completing 23 items, which is the highest among all sprints. This indicates that there are at least 23 items in the backlog to be worked on. This is
consistent with the concept of agile project management, which allows for changes and additions to the project scope based on customer feedback and changing
requirements. References = CompTIA Project+ PKO0-005 Certification Study Guide, Chapter 14: Agile Project Management, page 321. CompTIA Project+ Cert
Guide: Exam PK0-004, Chapter 9: Agile Project Management, page 287

NEW QUESTION 107
A project team participates in a brainstorming session to define the guidance, direction, and approach for monitoring established procedures for developed
products. Which of the following plans is the team creating?

A. Project transition

B. Project management

C. Project communications
D. Project quality assurance

Answer: D

Explanation:

Project quality assurance is the process of ensuring that the project meets the quality standards and requirements defined by the stakeholders and the
organization. It involves planning, implementing, and monitoring quality activities throughout the project life cycle. Project quality assurance is different from project
quality control, which is the process of inspecting and testing the project deliverables and outputs to identify and correct defects. Project quality assurance is also
different from project transition, which is the process of transferring the project deliverables and outputs to the end users or customers. Project management is the
application of knowledge, skills, tools, and techniques to project activities to meet the project objectives. Project communications is the process of planning,
creating, distributing, and managing information among the project stakeholders. References = CompTIA Project+ Study Guide: Exam PK0-005, 3rd Edition,
Chapter 8: Quality Managementl; CompTIA Project+ Certification Study Guide, 3rd Edition, Chapter 8: Quality Management2

NEW QUESTION 111
A project manager queries stakeholders to identify the right communication channel to be used during the project life cycle. After reviewing the responses, the
project manager reports that 70% of the stakeholders prefer email communication, and the rest prefer face- to-face communication. The project manager should
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update the stakeholder register with:

A. the preferred sponsor's communication channel.

B. the preferred project manager's communication channel.

C. the preferred reported communication channel.

D. email communication as the preferred communication channel.

Answer: C

Explanation:

This answer is based on the best practice of stakeholder management, which is to identify and document the communication preferences of each stakeholder or
stakeholder group12. The project manager should update the stakeholder register with the information gathered from the stakeholder analysis, which includes the
preferred communication channel for each stakeholder3. The preferred reported communication channel reflects the majority preference of the stakeholders, as
well as the minority preference of the face-to-face communicators. The project manager should use this information to plan and execute effective communication
throughout the project life cycle4. References = CompTIA Project+ Certification Study Guide5, CompTIA Project+ Certification Exam Objectives6, Stakeholder
Register in Project Managementl, What is a Stakeholder Register?2, How to Develop a Stakeholder Register3

NEW QUESTION 116

During a code implementation, a senior developer and junior tester are discussing the testing scenarios that were performed. A major malfunction resulted in an
inoperative product condition. As a result, the team was forced to work until midnight to restore operations. Which of the following should the PM have generated
FIRST to alleviate the impact of this issue prior to deployment?

A. A risk budget

B. A risk impact

C. A change request
D. A contingency plan

Answer: D

Explanation:

The project manager should have generated a contingency plan first to alleviate the impact of this issue prior to deployment where a major malfunction resulted in
an inoperative product condition during a code implementation. A contingency plan is a

plan that outlines alternative courses of action or strategies to deal with potential problems or risks that may occur during a project. A contingency plan can help to
prevent or minimize the negative impacts of unforeseen events or issues on the project objectives and deliverables and ensure business continuity and stability.

NEW QUESTION 119
During a quality analysis review, the causes of several issues have been highlighted. Which of the following should the project manager use to identify the MOST
important causes?

A. Ishikawa diagram
B. Scatter diagram
C. Pareto chart

D. Decision tree

Answer: C

Explanation:

The Pareto chart should be used to identify the most important causes of issues during a quality analysis review. The Pareto chart is a graphical representation of
the frequency and impact of different causes, helping to identify the most common and impactful causes. References: CompTIA Project+ Study Guide Section
3.3.3

NEW QUESTION 124
A PM is working with stakeholders in the discovery phase and comparing the cost of the project to the cost savings the project will produce when it is complete.
The output of this exercise will produce the:

A. ROI.
B. SOW.
C. RFI.
D. RPR

Answer: A

Explanation:

The output of this exercise where the project manager is comparing the cost of the project to the cost savings the project will produce when it is complete will
produce the return on investment (ROI). ROI is a financial metric that measures the profitability or efficiency of an investment by comparing its benefits or returns
to its costs. ROI can help to evaluate the value or worth of a project and support decision making and prioritization. ROl is calculated by dividing the net benefits
(benefits minus costs) by the total costs and multiplying by 100 to get a percentage.

NEW QUESTION 127

Which of the following pieces of data are examples of PII?
A. Medical record and test result values

B. IP address and email address

C. Name and year of birth

D. X-ray and blood type

Answer: B

Explanation:
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PIl stands for personally identifiable information, which is any data that can be used to identify a specific individual. Examples of Pll include name, address, phone
number, email address, social security number, passport number, driver’s license number, etc. IP address and email address are both Pl because they can be
used to trace the identity and location of a person. Medical record and test result values, name and year of birth, and x-ray and blood type are not PIl by
themselves, but they can become PII if they are combined with other data that can link them to a specific individual. References = CompTIA Project+ Study Guide:
Exam PKO0-005, 3rd Edition, Chapter 10: Project Security, page 331. CompTIA Project+ Certification Exam Objectives, Domain 4: Project Security, Objective 4.1:
Given a scenario, apply security best practices to a project, Sub-objective: Identify and classify PII.

NEW QUESTION 129
Which of the following contract types in project procurement has the highest risk for the buyer?

A. Time and material
B. Cost-plus

C. Fixed-price

D. Unit price

Answer: B

Explanation:

A cost-plus contract is a type of contract where the buyer agrees to reimburse the seller for the actual costs of the work plus a fee, which can be fixed, percentage,
incentive, or award based. This type of contract has the highest risk for the buyer because the buyer has no control over the cost or quantity of the work and the
seller has little incentive to control the costs or complete the work efficiently. The seller may inflate the costs or prolong the work to increase the fee. The buyer
may end up paying much more than the estimated budget or the market value of the work. References = CompTIA Project+ PK0-005 Certification Study Guide,
Chapter 9: Project Procurement Management; CompTIA Project+ Certification Exam Objectives, Domain 3: Project Execution, Objective 3.3: Execute procurement
activities.

NEW QUESTION 131
A stakeholder works in a remote location and has not been replying to emails. The Internet service in that location is intermittent, and the stakeholder prefers to be
contacted by telephone. Which of the following artifacts should the project manager have prepared to avoid this situation?

A. Responsibility assignment matrix

B. Acceptable communication channels
C. Risk registry

D. Staff directory

Answer: B

Explanation:

The project manager should have prepared acceptable communication channels to avoid the situation of a stakeholder not replying to emails due to intermittent
Internet service. Acceptable communication channels are methods or modes of communication that are agreed upon by all parties involved in a project. They may
include aspects such as email, phone call, text message, video conference, instant message, or face-to-face meeting. Acceptable communication channels can
help to ensure that messages are delivered and received effectively and efficiently and that communication preferences and limitations are respected.

NEW QUESTION 133
Given the following velocity chart:

Velocity Chart
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Which of the following updates on the project status should the Scrum master provide to the senior management team?

A. The project utilized all of its available reserve.
B. The project has scope creep.

C. The project deviated from the critical path.

D. The project is trending ahead of schedule.

Answer: D
Explanation:
A velocity chart is a tool used in agile project management to track the progress and performance of a project team over time. It shows the number of features or

user stories completed in each iteration or sprint. The planned timeline line represents the expected or ideal velocity, while the actual effort line shows the actual or
achieved velocity. By comparing the two lines, the Scrum master can identify any gaps, trends, or issues in the project delivery.
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Based on the image, the most likely update that the Scrum master can provide to the senior management team is D. The project is trending ahead of schedule.
This is because the actual effort line is above the planned timeline line for most of the time, indicating that the project team is completing more features than
expected in each sprint. This means that the project is ahead of schedule and has a positive velocity variance.

NEW QUESTION 134
During a complex, multiyear project, a PM must discern which project tasks overlap so resources can be allocated appropriately. Which of the following is best for
determining this information?

A. PERT chart

B. Milestone chart

C. Gantt chart

D. Budget burndown chart

Answer: C

Explanation:

A Gantt chart is a visual tool used in project management to represent the timing of tasks required to complete a project. It is particularly useful for showing the
start and finish dates of elements of a project, dependencies between tasks, and the current schedule status. This makes it an ideal choice for a project manager
to discern overlapping tasks and allocate resources efficiently.

References = CompTIA Project+ Certification Study Guide (PK0-005)

NEW QUESTION 139
During the planning phase, a PM reviews the SOW from the contractor, grades the full-time equivalents' resumes, evaluates the titles and salaries, and estimates
the number of hours for each milestone by full-time equivalents. The PM is most likely:

A. negotiating resources.

B. assigning resources.

C. assessing the resource pool.

D. adding resources to the schedule.

Answer: C

Explanation:

Assessing the resource pool is the process of identifying and evaluating the availability, skills, and costs of the resources needed for the project. The PM reviews
the SOW from the contractor to understand the scope and requirements of the project, grades the full-time equivalents’ resumes to determine their qualifications

and suitability for the project, evaluates the titles and salaries to estimate the budget and allocation of the resources, and estimates the number of hours for each
milestone by full-time equivalents to plan the schedule and workload of the project12.

NEW QUESTION 142
In the initiation phase, a PM is reviewing the objectives, the high-level requirements, the success criteria, and the budget resources. Which of the following action
items will benefit from this analysis?

A. Developing a RACI

B. Identifying and assessing stakeholders
C. Assigning project resources

D. Establishing communication channels

Answer: B

Explanation:

Identifying and assessing stakeholders is an action item that will benefit from the analysis of the objectives, the high-level requirements, the success criteria, and
the budget resources in the initiation phase. By reviewing these elements, the PM can determine who are the key individuals or groups that have an interest or
influence in the project, what are their expectations and needs, and how to engage them effectively throughout the project life cyclel12.

NEW QUESTION 144
As a result of an approved change, the project manager updates the project plan with the newest project end date. Which of the following change control
processes should the project manager complete NEXT?

A. Document the request in the change control log.
B. Communicate the change deployment.

C. Conduct an impact assessment.

D. Implement the change.

Answer: B

Explanation:

The project manager should communicate the change deployment next after updating the project plan with the newest project end date as a result of an approved
change. Communicating the change deployment involves informing all relevant parties about when and how the change will be implemented and what are the
expected outcomes and benefits. Communicating the change deployment can help to ensure alignment, readiness, and support for the change and avoid any
confusion or resistance.

NEW QUESTION 145
A project team evaluated the performance of a new reporting system and the quantity of queries to be processed during predetermined time stamps.
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Which of the following is the current status of the process?

A. Based on the rule of seven, the process is under control

B. The amount of data is insufficient to determine if quality is low.

C. The process is out of control and should be revised.

D. The goal should be adjusted since most of the data points are close to the lower limit.

Answer: C

Explanation:

The process is out of control and should be revised. The project manager can use the rule of seven to determine the status of the process based on the control
chart.

The rule of seven states that if seven or more consecutive measurements fall on one side

of the mean that there’s an assignable cause that needs investigation. In this case, the last seven data points are all below the mean, which indicates that the
process is out of control and in need of adjustment12

NEW QUESTION 149
A PM learns about some communication issues with different stakeholders and team members. Which of the following should the PM do NEXT?

A. Escalate the communication issues.
B. Implement a communication platform.
C. Review the communication plan.

D. Talk with the head of the PMO.

Answer: C

Explanation:

The project manager should review the communication plan after learning about some communication issues with different stakeholders and team members. A
communication plan is a document that defines and documents the communication goals, strategies, methods, channels, frequency, roles, and responsibilities for
a project. A communication plan can help to facilitate effective and timely communication among all stakeholders involved in a project and avoid confusion,
misunderstanding, or conflicts.

NEW QUESTION 153
A project manager is coordinating multiple teams of six people that will each provide feedback for a new product. The teams are recording their opinions, which
may be used to define the final product that is sent to mass production. Which of the following best describes this technique?

A. Demonstration
B. Workshop

C. Brainstorming
D. Focus group

Answer: D

Explanation:

A focus group is a technique that involves gathering a group of people who share some characteristics or interests related to a product, service, or issue, and
asking them for their opinions, perceptions, or feedback. The project manager acts as a moderator or facilitator who guides the discussion and records the results.
A focus group can help to collect information from a representative sample of the target population, explore ideas, identify needs and preferences, and support the
completion of larger projects. The other options are not correct because:

? A demonstration is a technique that involves showing the features or capabilities of a product, service, or process to the stakeholders or customers, usually in a
live or simulated environment. A demonstration can help to validate the requirements, obtain feedback, and verify the functionality of a deliverable.

? A workshop is a technique that involves bringing together a group of stakeholders or experts to work on a specific topic, problem, or issue, usually in a structured
and facilitated way. A workshop can help to define the scope, plan the activities, identify the risks, resolve the conflicts, and generate the solutions of a project.

? Brainstorming is a technigue that involves generating a large number of ideas or alternatives for a problem or opportunity, usually in a creative and spontaneous
way. Brainstorming can help to enhance the creativity, diversity, and quality of the ideas, and encourage the participation and collaboration of the team

members. References = CompTIA Project+ Study Guide: Exam PKO0-005, 3rd Edition, Chapter 6: Planning Projects, Part 2 (Scope, Quality, and Risk), page 191;
CompTIA Project+ Certification Exam Objectives, Domain 2: Project Planning, Objective 2.1: Given a scenario, create a project charter and project management
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plan.

NEW QUESTION 158
A key stakeholder recommends to a senior developer that a new feature be added. The new feature is not part of the current requirement documentation. Which of
the following is MOST likely happening?

A. Scope creep

B. Collecting requirements
C. Decision-making

D. Project change

Answer: A

Explanation:

Scope creep is most likely happening when a key stakeholder recommends to a senior developer that a new feature be added that is not part of the current
requirement documentation. Scope creep is a term that refers to the uncontrolled expansion or change of a project’s scope beyond its original boundaries or
objectives. Scope creep can happen due to various reasons, such as changing customer demands, unclear or incomplete requirements, poor communication, lack
of change control, or stakeholder interference. Scope creep can have negative impacts on a project, such as delays, cost overruns, quality issues, or reduced
customer satisfaction12

NEW QUESTION 161
To gather requirements from stakeholders, the project manager sits down with them and allows them to discuss freely. Which a following technique is the project
manager utilizing?

A. Process moving
B. Brainstorming
C. Interview

D. Focus group

Answer: D

Explanation:
A focus group is a technique that involves bringing together a group of stakeholders and facilitating a discussion to elicit their opinions, needs, and expectations
about the project. This technique can help to gather requirements from stakeholders in an interactive and collaborative way1l, p. 67

NEW QUESTION 166
A third party needs to perform a short-term task for which the duration cannot be accurately estimated and the cost cannot be calculated in advance. Which of the
following should the project manager put in place before work begins?

A. Time and materials contract
B. Master service agreement
C. Fixed-price contract

D. Statement of work

E. Cost-plus agreement

Answer: A

Explanation:

The project manager should put in place a time and materials contract before work begins for a third party that needs to perform a short-term task for which the
duration cannot be accurately estimated and the cost cannot be calculated in advance. A time and materials contract is a type of contract where the buyer pays the
seller based on the actual time spent and materials used during the project. A time and materials contract is suitable for projects that have uncertain or variable
scope, duration, or cost. A time and materials contract can provide flexibility and adaptability for both parties and allow them to adjust to changing requirements or
circumstances.

NEW QUESTION 167
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